Apartment in Qormi



Qormi, Central



€245,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): 81

Reference No: 240251139-1

Bedrooms: 2

Apartment - For Sale - Qormi

Qormi – Apartment Located in the heart of Qormi, this new block offers a modern 2-bedroom apartment, which will be in shell form by the end of 2026. It includes a balcony connected to the main room and bedroom, facing an internal garden. The design is practical and stylish. Close to all amenities – supermarkets, health centre, fitness centre, and just a few minutes from the church. Ideal as a rental investment or for small families. Freehold.

Features

✓ Lift

Rooms

Kitchen: 5.56 x 3.3 m (18.35 m2)

Dining: 2.89 x 2.5 m (7.23 m2)

Living: 5.03 x 2.67 m (13.43 m2)

✓ Double Bedroom : 4.73 x 3 m (14.19 m2)

✓ Double Bedroom : 4.73 x 3 m (14.19 m2)

✓ Bathroom : 2.5 x 2.2 m (5.5 m2)

Open Space : 3 x 1 m (3 m2)

Gallery







Ruben Pulido RE/MAX Advantage - Msida

M: 99702719

E: ruben@remax.com.mt

T: 21222123

RE/MAX Advantage - Msida Regional Business Centre, Triq Achille Ferris, Msida, Malta